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Part Il : Scholastic Aptitude Test

Part | : Time 1'/2 hours Max Marks :90

(For Physically Challenged group 2 hours)

Part Il : Time 1'/2 hours Max Marks :90

(For Physically Challenged group 2 hours)
Instructions To Candidates

Read the following instructions carefully before you
answer the questions. Answers should be given on
a SEPARATE ANSWER SHEET:

1. Please write your Centre Code No. and Roll No.
very clearly (only one digit in one block) as given
in your Admit Card. No block is left unfilled and
Zeros appearing in the Centre Code No. and Roll

No. are correctly transferred to the appropriate

blocks on the booklet and on the Answer Sheet.
For example,

The student with Roll No. 7 appearing for

National Means Cum Merit Scholarship Exam

from Lucknow first Centre Code No. 0042 wil|
make entries as below:

State Code Year  Centre Code Roll No. in Figures

OEER

Your s
Centre Code No. ang Roll No. shall remain the
Same as given on your Admit Card.
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N.B.: l i
DO not Wi lte a”ythi“g except the C I

2. The test Booklet is devided into
part has 90 questions,

3. All Questions carry one mark each

two Parts, EaCh

4. All questions are Compulsory

do not
time. "aste Your

5. Begin with the firgt question ang keep
N tryin
g

one question after another tjj| you finigh it
it.

6. If you do not know the answer tg any q
Uestigp

do not spend much time on j and pag
S on g

the next one. |f time permits y

back to the questions which yoy h

first instance ang try them again

ou can COme

ave left i, the

7. Since the time allotted for the question Paper i
very limited, you shoulg make the best use of jt

8. Blank pages have been provided for roy .
at the end of test booklets.

gh work

9. Remember, you have 1o marl?méis;v—eT\oh the
separate Answer Sheet.

10.The Answer Sheet has two specific parts, ge
sure that on the (Part-l) GMAT (Serial No. 1 to
90) is to be answered. On the other (Partl|)

SAT (Serial No. 91 to 180) is to be answered.

T1.Answer to each question is to be indicated by
writing the number of the correct alternative in
the answer sheet in the box provided against
each question.

12.Immediately after 1'/2 hours(For  Physically

Challenged group 2 hours) you start doing

Part-ll(Scholastic Aptitude Test). How you have

to answer the question on that part is stated on

the latter part of the question booklet Part-Il.

13.Now turn over Page and start answering the

question.

W

' let.
h work anywhere In the book
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MUY I RATIHT HOR Ug § Fﬁ:fw General Mental Ability Test
f: ﬂ a S e = l
N ﬂﬁ.wg%mww\%{m?ﬂ:ﬁ% qa‘ Sl Direction: In Question 01 to 12 each question has
71 faered W1 1 SR UF W 7d Uy & P 31 R g four terms. Three terms are alike in some way. One
U%mm%@q ) term is different from others. Write the number of
the term different from others on your answer sheet
a1 against the proper question -
ip
4) 17 1) 11 2)13
Q2) 3) 15 4) 17
;)?ﬂa 2) e Q2)
) 4) g1 1) Red 2) Yellow
Q3) 3) Blue 4) Green
Q3
1 roCG 2 Lz )
BB 4) FQMV 1) POCG 2) KLIZ
Q4) 3) BUDX 4) FQMV
Q4)
o 2) VT
yMQ 4) PR 1) FG 2) VT
Q5) 3) MQ 4) PR
Qs5)
;) HGF 2) XWV
) NML 4) OPQ 1) HGF 2) XWV
Qs)
;; SCE 2) PRT N A
it 4) MNO 3) UCE 2) PRT
a7 R 4) MNO
1) RTW Q7)
2) QOM
1
3) LNP 4) IKM 3; 51[\"]\;\/ G
a5 4) IKM
1) ik e Qs)
3) siReferan - ."‘rﬁ 1) Asia
) & 3) Australia S ATgenting
Qg) Qo) 4) Antarctica
1) ORI
2) Tl
3) Uard ~ 1) Mercur
Q10 ) = & 3) Petrol d 2) Acetone
: Q10) 4) Kerosene
1) dpal
3;1122{? 2) 1) Wood
AV RIS 3) Stone 2) Cork
Q11) p
Q11) ) Paper
1
3;% i)FﬁET 1) Tonne
Q1z) ) 3) Gallon 2) Pint
Q12) 4) Litre
1
3:;2 z) 1) Curd
4) TR 3) Qi 2) Butter
NMMS 2023 3 4) “heese
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P TR
Q15) 16:56::32:7
1) 9% 2) 112
3) 118 4)128
Q16) .16:.0016:1.02:7
2).102
1) .0102
3; 1.020 4) 10.20
Q17) 7:56:9:7?
1) 63 2) 81
3) 90 4) 99
Q18) 3FGR : ferRTT
1) YT : AW 2) @ - T
% 3l 4) UGS : el e
Q19) Hel : ¥t
) 3w ey 2) W - el
DIUIRE 4) ST : el ey
Q20) Tt et e
DS : Sman R T
3) R : JuRTYy 4) N pac
Q21) a—\‘-_)p[m ;:'qqﬁ:ﬁa:?
1) TRy .
3) &a 4)mia|?ﬁm
Q22) Hﬁﬁqm e
1)}30‘}%
3) SRR 25
REsa
3)% 2)%
Q24 ﬁﬁm 4)5111:":{
) e,
Ok
3) WR 2) e

Pirection: In Question 13
IN €ach queg

Q18) Darkness Larnp

1) Fatigue Exercise
3) Medicine Doctor
Q19) Fish : Shoal

1) Audience: Theatre
3) Elephant: Flock

Q20) Sonnet : Poem

1) Lie: falsehood
3) Murder: Crime

1) Heat
3) Energy

1) Golden Temple
3) Fire Temple

Q23) Rupee: India :: Yen:?

1) Turkey
3) Pakistan

Q24) Bank: River : Coast: ?

1) Flood
3) Sea

tion, there
same relationgp; e terms left tq y our tq
: .OUt of th fouFr) as the term, of the Ymbg, s
the four & One t is misg; fight 5y avg
e four ternatives iven, ¢ hg Which i My
corres j te.rnatlve and write itse * Fin :tne i
Ponding Questions op, you mbey Sain i
Q13) Ruby - Red - sapphire ? "answe S the
1) Blue
3) Green 2) White
4 o
Q14) JLNP: OMK] - SUWY - » )Sllver
1) FGH
3) PLHD 2 MLK)
Q15) 16: 56: - 32:? AR
1) 96
3) 118 21;2
8
Q16) .16 : 0016 = 1.02:?
3) 1.020 '
4) 10.20
Q17) 7:56 9>
1) 6
5 % ek
4) 99

2) Thirst : Water
4) Study : Class room

2) Shark : School
4) Study : Classroom

2) Chapter : study
4) Ballad : Prose

Q21) Clock : Time :: Thermometer : ?

2) Radiation
4) Temperature

Q22) Muslims : Mosque :: Sikhs : ?

2) Medina
4) Gurudwara

2) Bangladesh
4) Japan

2) Waves
4) Beach
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Q25) 54+3x8-12+4=3
1)‘*’3?R' E 2)- 3R -
3)+‘3?r{x 4) + 3R -
Q26) 5+6+3-12x2=17
1) + 3R x 2) + 3R
3)+Gﬁ'\’+ 4)+3ﬁ§_
Q27) 2x3+6-12+4=17
1) x AR + 2) + 3R -
3) + 3R = 4)- 3R +
Q8) 16-8+4+5x2=8
1)+ 3R X 2)- IR =
3)+3'?R+ 4) - AR x
Q29) 9+5+4x3-6=12
1)+ 3R x 2) + 3R x
3) + 3R - 4) + 3R -
Q30) 12+2-6x3+8=16
1) + 3R + 2)-x’rﬁﬁ+
3) x 3R + 4) = 3R x

Q31) TR = 7 31 x| x BT 3 +, + B 3 - SR - P 34 -
2 16x3+5-2+4 BT A F1d PifoCl

19 2) 10
3)19 4) 16
©32) % + BT+ < 1 3ief -, - T e x TR x BT 31 +
2 AT 12+6+3-2x8 BT HA 1A DI |
1) -2 2)8
3)4 4)2
Q33) TR + 1 O, - 7 o1k, + 1 o+ SR+ BT £
B 15-3+10x5+ 5 &1 T F1d BT |
N5 2) 22
348 4) 52
Q34) uﬁxﬁ\?{?f+,-ﬁ3{?fx,+ﬁ3ﬂf+3ﬁ?+ﬁ3{ﬁ'€
A (3-15219)x8+6 T A F1d BITOT | .

1)-1 2)2
3)4 48

il 5
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Direction: In questions 25 t0 30 there are equations
that have become wrong due to wr.ong order of
signs. Choose the correct order of signs from.the
four alternatives given below so that equations
become right. Write its alternative nun?ber on your
answer sheet against the corresponding question

number -
Q25) 5+3x8-12+4=3

1) +and - 2) - and —

3) +andx 4) +and =
Q26) 5+6+3-12x2=17

1) =+ andx 2) + and x

3) +and~+ 4) + and -
Q27) 2x3+6-12+4=17

1) xand + 2) + and -

3) +and+ 4) - and +
Q28) 16-8+4+5x2=8

1) +andx 2) - and +

3) +and+ 4) - and x
Q29)9+5+4x3-6=12

1) + andx 2) = and x

3) KX and = 4) + and =
Q30) 12+2-6x3+8=16

1) +and + 2) - and +

3) xand + 4) + and x

Q31) If + means x, x means +, + means - and - means +
find the value of 16x3+5-2+4.

1) 9 2) 10
3) 19 4) 16
Q32) If + means +, + means -, - means x and x means +
find the value of 12+6+3-2x8.
1) -2 2)8
3) 4 4) 2

Q33) lf + means -, - means x, + means + and + means +
find the value of 15-3+10x5+5

1) 5 2) 22
3) 48 4) 52
Q34) lfx means +, - means x, + means + and + means -
find the value of (3-15+19)x8+6
1) 1
2
5 4 f

Contd.



- of -
Q35) qﬁxﬁé{?f+,+?fﬂa{?j+,-ﬁ3ﬁfxﬁm . Pl 3

2 8x7-8+40+2 = ?

1)1 2)72
5
3 3 4) 44
-5— o x 3R + Pl 3 +
Q36) TR x P13 -, » 1 3 =, - O 5d B |
a1 15-2+900+90x100 = ? @l A
1) 190 2) 180
3) -90 &) 62
Q37) Tfg A=26, SUN =27 T4 CAT =7
1) 24 2)27
3) 57 4)58 .
Q38) afe Tw Fifd HTET # CARROM @I BZQQNL %?;qfl
mmm%‘ﬁfmwaﬁ HOUSE & &4
Fifed foear s |
3) INVRF 4) GPTID
Q39) TS PAINT @I 74128 3 0 7} 3R EXCEL 1 93596 &
0 R T T & 1 ST ACCEPT 1
DS B |
1) 455978 2) 547978
3) 554978 4) 735961
Q40) TfE E=5, PEN=35 dl PAGE =?
1) 27 2)28
3) 29 4) 36
Q41) TF Ffdd 1S F RAIN BT 85%6 3R MORE &I 7#8@
g oA 2 | S IS B REMAIN &1 9 foRaT ST § |
1) #@75%6 2) #@&$%6
3) 7@#$%6 4) 8@7$%6

Q42) e Uw Ffyd ®rs & LUTE T MUTE forar Sirar
FATE &1 GATE RIGT SIai e I SY Sie | BLUEE@N

foran s .

1) CLUE 2) GLUE

3) FLUE 4) SLUE

Q43) T i3 F1S H ROAD Tz 3
, WTFI & S § $ifsg

fopa Smar 3 @%ﬂ%ﬂt{ﬁmmmﬁiqgﬁ
GIFY BIS & T WIeg 1 8 iR | &

1) REAP

3) BEAT 2 I’;’T(E

NMMS 2023

Q

Q35) If x means +, + means = - mea

then nsxand ;
mEanS
8x7-8+40+2 =? ‘
1
2) 7 3
5
3) 3
8> 4) 44
5
Q36) If x means -, + means = - means
L Xa -

then find the value of 15-2+900+90Xn10 " Means .
0=
1) 190 ?

2
3 50 20
Q37) If A=26, SUN=27 then CAT = »
1) 24 2) 27
3) 57 4) 58

Q38) If in a certain language CARROM is coded
BZQQNL which word will be coded as HOUaSSE

IPVTF
INVRF

1)
3)

2) GNTRD
4) GPTID

Q39) If PAINT is coded 74128 and EXCEL is coded as
93596 then how would you encode ACCEPT?

1) 455978 2) 547978
3) 554978 4) 735961

Q40) If E=5, PEN=35 then PAGE =?
LA 27 2) 28
3) 29 4) 36

Q41) !n a certain code RAIN is written as 8$%6 and MORE
is written as 7#8@. How is REMAIN written in that
code?

1) #@7$%6 2) #@&$%6
3) 7@#5%%6 4) 8@75%6

Q42) If in a certain code LUTE is written as MUTE and FATE
is written as GATE then How will BLUE be written in

that code?
1) CLUE 2) GLUE
3) FLUE 4) SLUE

e the word ROAD is coded as WTEL

43) In a certain cod
i me rule of coding what should be

Following the sa
the word for the code GJFY.
2) TAKE

EAP
Dk 4) LATE

3) BEAT

\—M
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as6) FHELT 3Tehic(Question)
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Q47) FHEAT 37T cI(Question)
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Q48) FHEAT 3TehT(Question)
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Direction: Question no- 44 to 53 problem figures are
given at the lefthand side consisting three designs in
definite series and the place for fourth design is
vacant which has been shown by question mark(?).
Four answer figures are given againsfc each problem
figure. Find out the correct answer figure and write
its alternative number against the problem question

number on your answer sheet-

Que) ITY 3R (Answer)

[E=m]E
M @ @ @
Qs5) 3T 3TRRI(Answer)

Bl

S

Y

M @ © @
Q46) 3R 3MMeRIT(Answer)
ot it |
1M @ ©@ @
Q47 3T 3R (Answer)
m @ @ @
Q48) 3T 3MThTI(Answer)

7 A<+

M @ e @
9 3T IHRI(Answer)

RO

1 @ @ @)

»

T

Il

—

Contd.
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Q54 CK 16 9 JR
0s 24 19 TX
KM ? 2 PV

1421

2) 21,14
3) 56, 84

4) 84, 56
Qss) 12 18 30 16 32 40 36 18 27

6 8 5
1
3;; b
Qs6) A A
i A
vor TR
3) 251 i)) ?5
12
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Q50)

Q51)

Q52)

Q53)

M@ @ @
Direction: Question no-54 to 61 number are pl
in figure on the basis of some rules. One p‘.acet
vacant which is indicated as(?). Find out the correc
alternative for the vacant place and write it number

against the proper question number on your answer
sheet-

Q54)CK 16 9 JR

OS 24 19 TX
KM ? ? PV

1) 14, 21 2) 21,14
3) 56,84 4) 84, 56
Qss) 12 18 30 16 32 40 36 18 27
6 ?
1) 6 2)9
3) 12 4)18
Q56) 7\
916 A T
3| 4 Al
2) 215
1) 125 et
3)a2:251
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) il 53 |
s?) /o5 |17 38J® Q57)
Qe <
2
Q58) == Q58)
2 34 384 )3 2 ),
4 8 2
1) 42 2) 44 1)
3) 46 4148 3)
059) =5 \ 4 E‘ 7i \3 Qs9)
1)35 2) 37 1)
3) 45 4) 47 3)
—_— _
Q) |5 7 18| Q60)
6193[15/ 192! 5]4 (50| 1
3] 6] (8
15 2) 19
3) 27 4) 89
a1 (51419 Q1) [514[9]
6131|7? 61317
71214 11214
65| 20| 45 65] 20| 45
14 2)3 2
3)2 4)1 4) 1
Prwr. % 62 & 64 ) g T4l B 801 HRA @ fer Direction-(Qno 62 to 64) Study the following
PR o BT S 5 diagram to answer these questions.

Q62) T e g R o el s & e H R € -

Q62) Find out the number that lies inside all the figures:

1)2 2)5 N2 2)5
3)9 48 39 4)8
Q63) 9§ GBI R W Pt &l mﬁﬁ%mﬁéﬁ@lﬁ% - |Q63) ;’Vhich are the numbers that lies inside any two
igures:
121 251 1 21 5
v 5,1
3)59 4)9,1 3).59 4; 9,1
__/_QL\

NMMS 2023
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Q65) 4,23,60,121,7

2)1
49

2) 221
1) 212 4) 242
3) 241
Q66) 3,12, 27,48, 75, 108, ?
1) 147 2) 162
4) 192
3) 183 )
Q67) 3F, 6G, 111, 18L,?
=
3) 27P )
Q68) R M,2,FD,?
¢ B 2)J,H
3)B H 4)1,C
Q69) _aaba_bba_bba_abaa b
1) aabab 2) ababa
3) baaba 4) bbaba
Q70) ab_bbc_c_ab_ab b
1) ccaac 2) chabc
3) cacac 4) bccab
Q71) b_ac_cc_cb_ab_ac
1) cbaba 2) bbaac
3) abbbc 4) aabba
Q72) gfe_ig_eii_fei_gf_ii
1) feifgi 2) figie
3) ifgie 4) ifige
Q73) b_b_bb_ -bbb_bb |
1) bbbbba 2) bbaaah,
3) ababab 4) aabaah
Q74) c_bba_cab_ac_ab‘ac
1) abebe
2
3) babec 4; ZCC:CE
G
Q75) a_bbc_aab_cca_bbcc
1) bach
2
3) abba 43 i:ga
: a

Q64) Find oyt the Numbp
. _ €rthat |;
triangle; 5 Only g t
1 2
3) 5 2) 1
. 4)9
Direction; |, Question g5
/ letter series, |n €ach s 7 arg based
) eries misgip, LT
by question mark (2), Find o 9 tern, IS g D8
of the foyr alternatiyeg i t the Missing erlcated
alterrl;ative Number agaings thb Oow ang r:?eolut
num c fts
eron youranswersheet- orre Uestio,
Q65) 4, 23, 60, 121,?
1 212
3) 241 221
4) 24
Q66) 3, 12, 27, 48, 75, 108, 7
1 147
3) 183 2162
4) 197
Q67) 3F, 6G, 11}, 1g1_ 5
1 210
2
3) 27p el
4) 27Q
Q68) R M, 2 F, D2
1) CB 2)J H
3) BH 1 4)1,¢
Q69) _aaba_bba_bba_abaa_b,
1) aabab 2) ababa
3) baaba 4) bbaba
Q70) ab_bbc_c_ab_ab_b
1) ccaac 2) cbabc
3) cacac 4) beeab
Q71) b_ac_cc_cb_ab_ac
1) cbaba 2) bbaac
3) abbbc 4) aabba
Q72) gfe_ig_eii_fei_gf_ii
1) eifgi 2) figie
3) ifgie 4) ifige
Q73) b_b_bb__bbb_bb b
1) bbbbba 2) bbaaab
3) ababab 4) aabaab
Q74) c_bba_cab_ac_ab_ac
1) abcbc 2Viachch
3) babcc Hiee
Q75) a_bbc_aab_cca_bbcc
2) acba
1) bacb 4) caba

3) abba

NMMS 2023

. —



—
Q76) aab_aa_bbb_aaa_bbba

1) abba
3) aaab

Q77) bc_b_c_b_ccb

1) cbcb
3) cbbc

2) baab
4) abab

2) bbcb
4) bebe

Py Ty 78-85 I U 0 & IR ¥e RAM 2 vy e
5 O 91 1 SO H P T DI W 1 1) Ry i
-2 5 el T T TR 6 1 S ey 2
3o 3 i a8 99 A ol T W fowed 4 @ iy
SR T e T B ST T W W Uy e 3 g

ffae-
bt 2 3 4
69jam|O
q78) 3RO, WA, T S |
D3 2) 1
3)4 42
Q79) 4, Rier, Hid®
12 2)3
Bl 4) 1
Q80) oY, AHS], HTERI
2 2)3
34 41
Q81) B, HUS], Iha
14 2) 1
) 2 4)3
Q82) IufER, Sigex, ANl
iz 2)4
212 4) 1
Qs3) 4R, i, o
13 214
3) 1 i
Q84) IR, ﬁq,umg
1
3;?' 2)4
4)3
Q85) P, SIFaR, Treig
13 '
i 2)4
42
e B

NMMS 2023

Q76) aab_aa_bbb_aaa_bbba

1) abba 2) baab

3) aaab 4) abab
Q77) be_b_c_b_ccb

1) chcb 2) bbcb

3) cbbc 4) bcbc

Direction- For question 78 to 85 four sets of circles
has been given below. three circles of set have some
relation with each other. Questions given below have
three words each which are also related to each
other in some way. This relation between words is
similar to that in one of the sets of circles. Find it out
from the four options given below each question and
write its serial number against corresponding
question number on your answer sheet-
1 3 4

e

Q78) Deer, Rabbit, Mammal

1 3 2) 1
3) 4 4)2
Q79) Human beings, Teachers, Graduates
3) 4 Ui
Q80) Tiger, Fox, Carnivorous
1) 2 2)3
3) 4 41
Q81) Flowers, Cloth, White
1) 4 2)1
3) 2 4)3
Q82) Engineer, Doctor, People
1) 3
2) 4
3) 2 4)1
Q83) Thieves, Lawyers, Criminals
1 3 2) 4
3) 1 4) 2
Q84) Sea, Island, Mountain
1 2
R 2)4
4)3
Q85) Dog, Animal, Pet
1) 03
3 2)4
4)2

Contd.
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guw?gw%ﬁamﬁ?lm?ﬁ
1 || B HR B
Qsé) mmﬁcmmi”

0l 4 nai

3) I
Qs?) WWWW%?Z)W

;;;?;mﬂﬁ 4T AP T8I

8) F o oIGH I 87 |
& 1) Sl 2) Sl :

3;11?21% 4 TH I T Tl
Q89) THH P TEI el 67 _

_ofeen -fae 2)B-TR6 - SRR

;;?;me 4) F - Higan - e
Q90) 3 ¥ B I et o1 ufaffia d 82

1) AEG 2) EFG

3) AEF 4) CDE

Direction- (

Qno 86 to 90
information ) Stug

and answer these o, Y the

: € f .
QSUOn givc‘n()gl()w;ng
Al BI C: D, E, F and

. G are travelling :
vehicles. There are at least t
vehicle |, Il ang Ila

both the genders.
doctors and two t
doctor and she ¢
Aand F. B, a ma|

E‘I(_)v’v"

WO passg
Nd each vehjcjo

There are two ene;

NQgine
eachers among tp,

O€s not traye| wi

. M each
d -

em. 153 I3
d‘
th the pair o .2
I With o,

vehicle |l

Q86) In which vehicle does C travel?

N

2) ||
3) 1l

4) Il or |y
Q87) How many lady members are there amonq them?

1) Three

2) Four
3) Three or Four

4) None of these
Q88) What is F's profession?

1) Doctor

2) Engineer
3) Teacher

4) None of these
Q89) Which of the following is not correct?

1) A - Female - Teacher

2) B - Male - Enginser
3) E - Male - Teacher

1) AEG
3) AEF

2) EFG
4) CDE
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(T) FTATSS eI v.H. 126 & 160
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4. 39 1 3IRE Hriorw
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SCHOLASTIC APTITUDE TEST

Full Marks : 90

Time : 1'/2 hours

(For physically challanged group 2 hours)

INSTRUCTIONS FOR THE CANDIDATES

1. This test booklet consists of three subject
groups containing questions as following.

(a) Science Q.No. 91 to 125

(b) Social Studies Q.No. 126 to 160

(c) Mathematics Q.No. 161 to 180

2. Attempt all the question from every subject
3. Find out the correct alternative from given
four alternatives for each question and write

its number on your answer sheet against
proper question number.

4. Please start your work.

W-wmmﬁmm#aﬁﬁwaﬁ%ﬁwﬂm|

N.B. - Do not write anything in the booklet except rough work.,

BERNRERC —coed KRN
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Q91) The chemic

al formyla of
3 Bakin
ﬂ:ﬂ% 1) Na,C 950da is-
Qo1) &M 3 @S I NaHCOs 3 . )N
2) y ) NH4OH aHCo,
co o) 4
1) :a: o}j 4) Na Q92) An example of , T ) Naon
3) NRa Mica|
zﬁmﬁmﬁuﬁaéaaﬂaﬂﬁTm% D Melting of ya, & change.
Q92) @ 2) Al @ ot T 3) Rusting of | Sugar
1y 7 a1 feer ! 4) 7 3R an 4) So'uuosyru
o OfS m
3)@%ﬁm m R Q93) The atoms of Water alt With
e any e
TP T number byt i Ment h
3) Maﬁ%wﬁmg fout differeny Mass ° the same atomjc
- e TRAg WP ¢ FAUIR® 1) Isotopes Umber are e,
2) : 3) Isotonesg 2) Isobars
D e & Q94) Gypsum A somers
3) M1s an ore of-
ase) R T E 2) tfcea (Ca) 1) Iron (Fe) Bl s
1) TR (Fe) ' RiT (Zn) 3) Copper (Cu) )Cgluum (Ca)
R (Cu) ) 4 Zinc (zn)
3) DI ( ' 3 Q95) Valency of Oxygen i .
qo5) i SRS B Feerel & 1) 1 e
ey 2)3 3) 2 2)3

Q96) ﬁaﬁ%mﬁﬁiwﬁmﬁﬁqmw
FaRTES emE(Cl) H L ]
1) 17 Tt 9K 17 TaEeH 2)18%@?173@3@:{

3) 18 Ter 3R 18 FeaCH #) 17 ¥ R 18 T

Qo7) BT E F B T TR T E-

Q96) Which one of the following set of number of Protong

and electrons present in chloride ion-

1) 17 protons and 17 2) 18 protons and 17
electrons electrons

3) 18 protons and 18 4) 17 protons and 18
electrons electrons

Q97) Which one of the following is producer gas-

1) CHg + CO + HaS 2) CO + H2 1) CHs + CO + HoS 2) CO + H,
3)CO + N2 4) CHs 3) CO+N2 4) CHe
Q98) P T B SRIqE TSI o7 Q98) Which of the following is an unsaturated
’ hydrocarbon?
Pk 2) QA 1) Methane 2) Ethane
3) wdiier 4) TIYA 3) Ethylene 4) Propane
Q99) S 5 ¥ J feoven! Ty T (alloy) ©7 Q99) Brass is an alloy of which of the following?
“@mﬁ@ 2) Tig qurfes 1) Tin and Copper 2) Leadand Tin
3) el quT i 4) ?ﬁaa%nﬁﬁqm 3) Copper and Zinc 4) |ron and Chromium
Q00T B, 7ot B, T U I & T T 3y (R 7= |@100)f B+ and B2 represent the magnetism at middle &n¢
o P, - end of a magnet respectively then-
;;Z1>Bz 2) By = B, 1) B> B2 2) By = B2
. 4)37‘3%@3‘:@' 3) Bi<B2 4) None of these
Q101) T A9 quT 5oy 7 _ \quid are
A 13 X Tx,R q.  lQ101)lf the velocity of sound in gas i lllq/uthen-
1) | represented by x: and X2 respectively:
X1 =X
3) o 2% > x, _ 2) x1 > X:
o = 4) x> 1) X0= X2 4) x1 2 %2
=% 3) X1 <X2 "
NMMS 2023

\

‘_/%

T4



amm@amg-

5 W 2)a : Q102) The nature of lens in human e)'/e is following-
3) e a{ﬁ—mﬁ’rw ST 4) 399 J ?ﬁé ] 1) Convergent 2) Divergent
yq?ﬂﬁ el 3) Half convergent and 4) None of these
3)W@Hﬁﬁﬁqmmz\qﬁ%_ half divergent =
a0 q—@%@gﬁ“ﬁ i 2) T Q103) Which of the following matchings is correct-
"ﬁqnﬁ ﬁ#f P Ryorfe 1) Motion of blades of a 2) Motion of Soldiers
R fan - Circular Motion  doing marchpast -
DI - WA WS Spin Motion
”%ﬁuﬂﬁ %aﬂm%wm 3) Motion of Child on 4) Earth revqlvmg around
- aﬁ?ﬂﬁ-‘f Swing - Rectilinear Sun - Oscillatory
Motion Motion
CARs EC .
Q104)ET - Q104) Unit of Heat Energy 15
2) .
1)q§eﬁm‘q 4) d e 1) Joule Metre 2) Degree Celsius
3) ﬁ@.ﬁ:{w 3) Kilogram 4) Joule
Q105)W@—amm%? o He 1 Q105) Which of the following is Non-Renewable Energy
' Resource?
| 2) YTy
1)% 4; Wg 1) Petroleum Gas 2) Geothermal energy
7l o s 3) Solar Energy 4) Wind Energy
Q105)ﬁ1;ﬁf@ﬁﬁﬁﬁ’f S WﬁWﬁ% Q106) Which of the following is not example of Sound
PR reflection?
1 2) SIRUH 1 2) Reverberati
R T : , ) Echo everberation
3) e 4 ﬁﬁ@fﬁs‘:@ 3) Toy Telephone 4) None of these
Q1o7)ﬁgf%f@'dﬁﬁﬁ=r ST TH §7 Q107) Which of the following terms is a browser?
1) ’EEaE ! 2)3('_65313—5'36 1) Netscape 2) World Wide Web
3) drEY 4) -7 3) Launcher 4) e-mail
Q108) SfETAL: . Q108) Statements:
(A) wﬁmﬁrww&ﬁéﬁﬂmw% (A) Light Rays passing through optical centre go
WWTGDTE;IHTI R undeviated.
(B) ma&oﬁ BT ITTNT 2% 3{JeATp gt Ul J (B) Convex mirrors are used in traffic view mirrors.
Aael o For above statements which of the following are
3 S| H Y B G H ¢ true.
NHITA 2) Hacl B 1) Only A 2) Only B
3) A TS B GHI &G ATE B 3) BothAandB 4) Neither A nor B
Q109) & &7 w1 7 fopg gufe & BRI Bl T Q109)Red colour of blood is due to which pigment:
;) IR 2) PIE-STR RIS 1) Oxygen 2) Carbon Dioxide
) Wiedicy 4) grArateH 3) Platelets 4) Haemoglobin
Q110) TRifar I I BT B Q110) Malaria is caused by:
;; SfHiET gRT 2) TRHIREA g1 1) Amoeba 2) Paramecium
TUe et gRT 4) ESHITSTH g 3) Entamoeba 4) Plasmodium
Q1) FaieTar Bk a7 &- Q111)Universal donor blood group is-
A 1)=A
2)B 2)B
3
Z)Wﬁsm’fwm%_ Q112)Excretory organ in Earthworm is-
1) 355 1) Kidne .
. 2) IR y 2) Nepridia
3 p
d e’”ﬁqm 4) Wﬁm ) Flame cells 4) Malpighian tubules
e |
Contd.
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Q113) Yauif= B-

1) &dH 2) g

3) Al 4) Sy
Q114) f4e1fH D &1 it § gl &-

1) T 2) it

3) aidl H§ go 4) g@I M
Q115) {4 IRR b T8 71 Uree TR

N APd 2) AR U

3) STUR™ 4) o=

Q116) form 7 et oo fafty g o o1 &-

DEES] 2) el
3) Slid 4)
Q117)ﬁ§ﬁ@&ﬁ?®ﬁ%ﬁmﬁm:@%?
1) TR PARIANE|
3) SIBC 4) HDH
Q118) 7o 1 U1 8-
HRIE! 2) JuRE!
_:,;ar«ﬂu 4) TR
0119)ﬁaﬁ®ﬁqmmaﬂﬁm€m%?
1) 2) A
3)% 4) IR IH!
Q120) HIIeT BT FSTE &-
1) RRfaet 2) Mt aS!
3) A 4)
Q1z1)ﬁ?ﬁwﬁméﬁmﬂ$mﬁ$%ﬂgﬁmﬂ
CRICICIGE
1) siRfafed 2) 3G
3) oA 4) YR &
Q122) SRTETEEH S bad gR1 Bl 8-
)T 2) TS ¥
3) Uit 4)Had
Q123) Frg & fpg DaTa &1 W 9d Saa & w4 | {6
iGN
1) e 2) Uil
3) gl &) T

Q124) g1 UichaT Sl gH H fRUd 940t YA Slemy) &) AR Tt

fafSra & St 8, Heam ¢-
DERINIEERE] 2) TRERTE SR
3) i 4) Tedu
Q125) St Tref &-
1) 3 2)
3) B ) e
NMMS 2023

Q113) The Phonoreceptor is-

1) Ear
3) Nose

2) Eye
4) Tongue

Q114) Deficiency of Vitamin D causes:

1) Anaemia 2) Night Blindness
3) Swelling in teeth 4) Rickets
Q115) The largest digestive gland in human body is:

1) Liver
3) Pancreas

2) Salivary gland
4) Gallbladder

Q116) In which of the following animal reproduction occurs

by budding-
1) Hydra 2) Amoeba
3) Leech 4) Paramecium

Q117) Which of the following is not a part of Nerve cell?

1) Axon 2) Spinal cord

3) Dendrite 4) Nucleus
kQ118)Cactus plant is-

1) Climber 2) Epiphyte

3) Aquatic 4) Xerophytic
Q119)Which of the following is fibre yielding plant?

1) Jute 2) Neem ‘

3) Cinchona 4) All of the above

Q120) Power house of cells-

1) Vacuole
3) Ribosome

2) Golgi body
4) Mitochondria

Q121)Bark of Quinine is used for treatment of:

1) Diabetes
3) Malaria

Q122) Bryophyllum reproduces through-

2) Insomnia
4) Common cold

1) By stem 2) By root
3) By leaf 4) By flower
Q123) Which of the following algae can be used as
Giofertilizer-
1) Ulothrix 2) Polysiphonia
3) Azolla 4) Nostoc

Q124) The process that kills or deactivates all
microorganism in milk is called as:

1) Sterilization 2) Pasteurization

3) Sanitation 4) Activation
Q125)Non—ﬂowering plant is-

1) Mango 2) Jamun

3) Fern 4) Banana

6



T e R

FaE®
mzﬁ@ﬁm Wﬁmm@rmWw
2) Tt
= v
e QIR afaReg 3
o i 9 Rt 3
prugA T 2) Tl 7
;;mﬁfcﬁ 4)%%:{3&
0128)3111;41@'@'3?@?7%??1@13@1337
p) o 2) U
3) 4) ToRTd
RT3 8 R I T T 1 v
p) ot T 2) §5 I
3) 4) W s

Q130) T Hiﬁﬁ@ﬁﬁmmﬁmm—,ﬁ?ﬁ?

1)ad 2) BIeht
3) ST 4) 3T
o131 i 1 Il 1 212
1) §gI 2) T Y
3) T e 4) fogar
0132) TG G =TT BT TRIG DM 87
VEILE 2) gdrSIfel
3) AR 4) Hegul
Q133) 3R TR 1 RITGAT fee i i
1) fyeex Tiet 2) 3rch WM
3) §gaIa dial 4) PR
Q134)Wmﬁﬁg@'§w_

1) et ta grreh & ot Z)waﬁﬁa‘@m‘ﬁ
)T TS Sl P ol 4) SR Ud HeRon Al

Fad
QU35 3Rl & R o re AR B A
ST BT 7919 -
;’m‘@?ﬂ 2) HR SR
VR i 4) fregeren
Q136) S arier erelfee fpe @ SRe E9T7
11920 &t
i &+ <
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Social Science

Q126) By which name was the Head of the Village known in

the Vedic period-
1) Vishpati
3) Kulap

Q127)On the banks of which one of the follow
the site named, Alamgirpur situated?

2) Ravi river
4) Sindhu river

Daimabad Archaeological site

2) Gramni
4) King
ing rivers is

1) Hindon river
3) Satuluj river

Q128) In which state is

located?
1) Rajasthan 2) Punjab
3) Maharashtra 4) Gujarat

Q129) In which of the following texts sixteen

Mahajanapadas are mentioned?
1) Anguttara Nikaya 2) Buddhacharit
3) Divyavadan 4) Suttan pittak

Q130)'Champa’ was the capital at which of the following

Mahajanpadas?
1) Vatsa 2) Kashi
3) Koshala 4) Anga

Q131) Who was father of Ashok?

1) Samudragupta 2) Chandragupta Maurya
3) Chandragupta I 4) Bindusara

Q132) Who wrote the famous book ‘Indika’?

1) Chanakya 2) Patanjali
3) Megasthanij 4) Kalhan
Q133)Who founded the city of Agra?
1) Sikandar Lodhi 2) Ali Khan
3) Bahlol Lodhi 4) Akbar
Q134) The battle of Haldighati was fought between-
1) Chand Bibi and 2) Sher Shah Suri and
Mughals Humayun
3) Mughals and Afghans 4) Akbar and Maharana
Pratap

Q135) The Nawab, who transferred his capital from
Murshidabad to Munger, was-

;) Sir.aj-ud-DauIah 2) Mir Jafar
) Mir Qasim 4) Najm-ud-Daula

Q136)In which of the following years did Non-cooperation
movement start?

;) 1920 A.D. 2) 1922 AD.
) 1921 AD. 4) 1923 A.D.
7 \
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3T UT?
Q137)WWW@EZ)1930§.
1) 1939 %. 51932
3) 1934 5. 2
. gy Sd
Q138)ﬁ"£ﬁa’a:fﬁa’amﬂga{ 2)g<
n g a) HTE ar?
) TS e | SIS
Q132)ﬁ?€mmﬁmwuﬁ
2) 81°
17 81.22 g 4 83.5909
3) 82.
Q140) 77 ST HRT T = it
2)
1)%@‘3"5' 4) TETSK TRVl
Q14iimm$ﬁmﬂaai e e ST
200@'3003‘{&{]32-[

1) 50@'200 Gf&‘ﬂ'QT

3) 100 § 350 &I 4) 300 § 600 A&

Q142) HTE RTPTA BT T - py o p
1)3{1‘%’&'@@'% )m
3)3’@3{]’1}?\’4?@% 4)

Q143) YTTETE BT T &- e
IaAE 2)gardc
;;ﬁ@-w@ 4) gigH e

Q144) TarOT- Ui ATSH T T B
1A E 2) Tieq AT ¥
3) Sfiq AAgA o 4) AFYA BT FAad— F

Q145)Sita Fate Y o TS 8-

1) e B A 2) Hla HUE
3) I S I 4) STH I FIS A6l

Q146) FofiEd & ¥ &9 1 I9g FHal BId &1 UiaH-idd

HIAT8?

M T, S, =40 2) HUN, ST

3) U, HER, = 4)3?1’-{%@%:@
Q147) TTTd g &1 gid-

ECIG IR =

C:‘Z’%ﬂﬁ % SUSHIT @ﬁm“{?frq

A 2)B

" 4p
°‘4f;$ﬁﬁi-qﬁmﬁﬁfm@mg

3) R 2) W

4)W%a%§q~§
NMMS 2023

la137) When was the First Roung Tablem\
n ereth
helg>

1) 1939 AD

2
AD
q138) Trees found in Mangrove forest ar
e-
1) Sundari
2
D suncar Fely
Q139)Which Longitude is associated with |ng:
time? e e
rd

1) 81.50 East 2
) 810
3) 82.5° East 4) 83 S‘E)aEse: t
. s

IQ140) Example of warm current js-

1) KUROSHIO

2) o,
3) PERU ASHIO

4) LABRADOR
Q141) Maximum Tropical cyclones are Wwitnes
following Latitudes-

1) 50 to 20° Latitudes 2) 20° to 300 Latitug
3) 10° to 359 Latitudes 4) 30° to 6Q0° Latltud:

IQ142) Karst topography is associate with-

sed betwegy,

1) Igneous rocks 2) Lime Stones
3) Sand Stones 4) Loess

lQ143) Thalghat is associated with-

1) Northern Railway
3) Metro Railway

2) East Coast Railway
4) Western Coast

kQ144) South-West winds are associated with-

2) Summer Monsoon
4) Retreat of Monsoon

1) Monsoon
3) Winter Monsoon

lQ145) Subsistence Farming is associated with-

1) Commercial 2) Mixed Agriculture

Agriculture
3) Plantation Agriculture 4) None of the above

Q146) Which of the following groups represents cash
crops?
2) Cotton, Jute, Tobacco

1) Wheat, Barley, Gram
4) None of the above

3) Paddy, Pea, Gram
lQ147)Choose the incorrect pair-

Normads Country
. Bushman Africa s
g Jaurawa Andaman and Nicobar |sland in 1N
C. Eskimos Canada .
D. Pygmies Amazon basin
2)B
;; é 4)D
kQ148)The crust of the Earth is formed-
1) NIFE 2) SIMA e -
IAL 4) None
3) S

contd-
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mwmaﬁj:jm”s'“”'ﬁmmv
HRT 2)
1) TP IR gl
D ) TR B g
0150)ﬁmﬁmﬁﬁéé?
07 2)73
574 4) 75
1) g 8 ST T e foren
atsIET U Hew = 2
11879 2) 22 99
321 @ 4) 20 9
g152) S HIEE P fore af @y foar
0153)ﬁaﬁqmaﬁwmmmﬁn§zﬁ?
1) 25 SFaRT 1950 2) 25 BRG]
3) 10 SFa< 1949 4) 25 A4 192850
Q54 T R 1 TR A T Steey i oty
1) 1. % TG 2) 3. i1 79 edEaR
3) 3t TSR] 4) 1. Ifuer=< Ry
q155) At SAIHRI &1 I Wiae= & g um & 82
1) HIT-1 2) YFT-5
3) HI7T-3 4) YIT-6
Q156) TRT HeioT &I T 8-
112 2) 11
3)6 4) 10
Q157) 3fTeye-52 T TR 8-
RILITE 2) IRIPUT ¥
3) ISaUTE 4) A 9

Q‘Ss’ﬁigf?ﬁm sgeye # fren & SR &1 90 b3

122
o
°‘59>%§%ﬁ%waaﬁwm@a%mam

Q149) Which of the following is a cold ocean current?

2) Current of Alaska

1) Current of Gulf stream
4) Current of Kuroshio

3) Current of Kanari
kQ150) How many districts are there in Uttar Pradesh?

2)73
4)75

year of age cannot be the

1) 72
3) 74

Q151)A person below
member of Distr

—

ict Panchayat.

1) 18 years 2) 22 years
3) 21 years 4) 20 years

Q152) Which year was »swachh Bharat Mission” launched?
1) 2014 2) 2015
3) 2016 4) 2017

Q153)When was the Election Commission established?

2) 25 February 1950

1) 25 January 1950
4) 25 March 1950

3) 10 January 1949

Q154) Who was the chairman of the Drafting committee of

the Constituent Assembly of India?
1) Dr. Rajendra Prasad 2) Dr. Bheem Rao
Ambedkar

3) C.Rajgopalachari 4) Dr. Sachidanand Sinha

Q155) In which part of the Indian Constitution
'Fundamental Rights’ are mentioned?

1) Part-1 2) Part-V

3) Part-lll 4) Part-VI
Q156) The Number of Fundamental Duties are-

1 12 2) 11

3) 6 4) 10

kQ157)Article- 52 is related with ;

2) Vice President
4) Chief Minister

KQ158)The copsti’gution of India mentions Right to
Education in which of the following article-

1
3; ;g 2) 21(A)
4) 20

Q159 is i i
)\;\(/jfl\.at is |r?cluFled in the Directive Principle of State
icy which is not in Fundamental Right-

1) President
3) Governor

1 .
) RYDA BT 2) 3 S Pl @Al 1) Abolition of
2) Freedom of movement
3)?415!3% . ) . « LFJntouc_habiIity
I ) RS 2l reedom of religion  4) Promotion of cottage
Q16°)ﬁ'aff§[a,ﬁ:f . % : industry
e TR e T o Q160)Which one of th hi
Member.of & e.followmg is not a Permanent
e ecurity Council?
. 2) Britain (The United
: 3) Rusci Kingdom)
4 / uss
) gedl 19 4 4) ltaly
Contd.
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Maths
aford %’*ﬁ 161) The populati : )
: 10 W: 30% 4 )menp3OFc>)/ W ‘on of a Vlllage 1S 1500,
it s 1500 d sﬁ;% 7 3=} &- betweenoth omen SNd rest are chi!dre:re are 4y,
Tﬁa q I e num er Of B E 'I (\
Q161)§§1mﬁ%‘ a—vf[é}ﬁ—{ Ii:(.l “ H o Ch”dren and Wo eir?nce
2) 350 Is?
3) 45
1)0 i; Zgg :f ’ 4 600
3) 450 aﬁﬁﬁaﬁm Q162) 5“’?“ of any two numbers jg 110 sy
) i T AT 1108 mﬁm‘i quotient and remaingers are 4 5 Ch thyt the
Q162)Hﬁw_ﬂ%ﬁmm: YT When the greater of the two nur:ﬂ 5 re_SpeCﬁVely
ﬁ@%ﬁa’s"r Sl smaller one, the greatest nympe, o divigeg
GRIE : .
1) 21
2
2)98 3) 89 4; 3
121 479
8 Q163) On solvi /-_x_ l-x
ving [X_ . [l=x |
@ T A1 VI '\/:—Q—Wegeto
Q163) /:-;—-—+ E=2% H 8 B WX By x x 6 Ne valye
Vi-x V x
T BT . 1) % 2 1
N4 13 13
13 4) 3 3) 2 4) 3
3)2 13 13 13
13 . . .
164) Each side of :
Q164)ﬁ,—\:ﬁgqar§'ﬁgaﬁﬂm Wﬁaﬁﬁ4@¢ﬁ%l SER )area e an equilateral triangle is 4¢m, then it
ReRsCdl "~ _ _
1) 203 R 2) 4Y3 9P 1) 2/3cm? 2) 43 cm2
3) 30 IR 4) 64 9 3) 30 cm? 4) 64 cm?
Q165) g 7 98 B10 T S TEn R 8192 HHITET W [Q165) What is the smallest dividing number that Makes
NS QU O & STl ¢ | 8192, a perfect cube?
12 2)4 1) 2 2)4
3) 16 4)32 3) 16 4)32

Q166) TS for et Ta & Uep AU &1 U fogTs 15 8, al 39
& 1 (3/10) STumTE,

Q166)If one third of one fourth of a number is 15, Then
(3/10)"‘ part of that number is;

118 2) 36 1) 18 2) 36
3) 54 4) 90 3) 54 4) 90
Q167)gfe o0 - 71 - 4 g n" ST §- Q167) £ 2N - 2N = 4 then the value of n"is:
18 2) 27 1) 8 2) 27
3) 64 4) 125 3) 64 4) 125
Q168) 7fe fahd} a{rqaaﬁmréama‘rsém: 10% TYT Q168)If length and breadth of a rectangle is incre.aSec by
20% &1 <1 T Il G m%ﬁﬁ 9¢ 10% and 20% respectively, then the area will be
) ' increased by what percent-
i 2) 3% 1) 16% 2) 32%
6 4) 649, - 3] 48% 4) 64%
Q1 59)%&@%‘3 'O g FHT A wven fi '0' is the centre_A
¥ Q169) N the given figure ¢
€ 1R £B0D=1309 of the circle and £BOD=130
dl zBCD BTHF . S Then value of ZBCD is ,
< g’
/ D C
-~ 1) 90°
2) 650 2) 65°
NMMS 2023 3):. 1159 Contd.




e

1.1=63Tx-1) FHAE:
UL 8 ( X) T &:-
01 2)3
5 2
3)5 N1
2 2
Qﬂﬂqﬁ@ﬁrmﬁmm

e -}Z—x-‘ +(x2=(1-x?)
yig T T (2x2—%—1jgy & sy
deré gel-

1)5 = 1l 2) 1- X
5 2
)
q172) fordl & 1 10% qftie TS D1 &X § 2 7 3
ST S TURYT 4TS P SR 102 8, A g e 3,
171010 2) 1095
3) 1000 4) 3990
Q173)TyH <F ST A T HIH B
1) 109 2) 1
3)11.9 4) 129
Q74 AR x = y &, A x5
5 8 y+8
13 2) 5
8 8
3)7 4)8
8 5
Qu7s)FTiT e o 7 fawg P 3Ry
forg Q & da 6T gl & Q(04)
P(-3,0)
! T X
=9 =0\
vy
1) -
3;423;‘;"5 2) 35H1
4) 5 3P \

Q176)2) v gty e it e e 305 3 A A €
mmﬁmzs S qagr P B P
T TIUTd BT,

02:5

3)3:5 2)23

4)5:3

Q170) If ¢ - 1 =63 then the value of (x - 1)15:-
3 X

x 8
n1 2)3
2 2
3) 5 47
2 2
Q171) |farea of a rectangle is
M+l o+ ~D(1-x7)
and its length be(2x2 _X _q] then its
breadth is:- 2
M x-1 2)1-x
2 2
3) x +1 4) 2x +1
2

compound interest and

Q172) The difference between
tain sum for two years at the

simple interest on a cer
rate of 10% per annum is 210. The sum is;

1) %1010 2) 1095
3) %1000 4) 3990
Q173) The mean of first ten prime numbers is;
1) 10.9 2) 11
3) 119 4) 12.9
Q174)If x = y then x+5 is;
5 8 y+8
i 3 2)5
8 8
o) & 4)8
8 5
Q175) Distance between point P and Q in y
the Cartesian Plane figure is- Q(0,4)
3 y
P30) 1
X € A—t—t—>X
3211123
y!
1) - i ,
3; 42 Gt 2) 3 unit
unit 4) 5 unit

Q176)Thﬁ ratio Qf the base radii of two right circular
;y inders is 3:5 along with ratios of their heights as
:3.Then the ratio of their slant area is;

1)i::2::5

4)5:3




Qv
. e IOTH
ISICAREASINENY
0177)am3ﬂﬁaﬁmﬁm%‘
2)6
15 e
12 4)8
3)7 1e
12

. cld
Qi7g)fedr 1w ju(r)sﬁwﬂm? @
Faet faeg P x
ar /PTQ & &A1 &-

1) 40°

3) 60°

. W1mm%3h?q%
T g

T B 65 F 4T 2 T HEBe &,
2) 30
1) 20
3;40 550
Q180) 7 JHIPHRT -x2-254+ 320 & E-
031 2) -3, 1
3.3 -1 4)2,1

1)
3)

1)

3)

1)
3)

177)The probability tha
dice woud be 7 or m

Q179)The remainder when a numpe Is divided by 13

and if its quotient js divided by 5 gives remainde, 3
Then the remainder if the

t the Sum of

num
e:WhEchey

bel’s on

th
random js; S r°”edeattwo
LI 2) g
12 12
3) 7 4) 8
12 12
Q178) I the given figure O g the ¢

at point of
COontact p and Q are PT

and QT, If ZPOQ = 1200
then £ZP1Q s

400
600

2) 500
4) 800

151

number is divideg by 65

2) 30
4) 50

20
40

Q180) The roots of the quadrate equation -x2-2x+3=0 gre.

5 =1
-3, -1

2)-3,1
4) 2,1



